SOLICITATION/CONTRA		OR COMMERCIA 12, 17, 23, 24, AND 3		1. REQ	UISITION	N NUMBER		PAC	E1OF	55
2. CONTRACT NO.	3. AWARD/EFF	, , , ,	R NUMBER			5. SOLICITATI	ON NUMBER	6. SOLI	CITATION ISSU	IE DATE
HDEC04-12-D-0016	14-May-201	12				HDEC04-12	2-R-0015	09-M	ar-2012	
7. FOR SOLICITATION INFORMATION CALL:	a. NAME KATHY P. F	PULLEN					ENUMBER <i>(№ C</i> 000 X.52860		R DUE DATE/	
9. ISSUED BY	CODE H	IDEC04	10. THIS ACQU	ISITIO	NIS		11. DELIVERY F	OR FOB 12. DI	SCOUNT TEI	RMS
DEFENSE COMMISSARY AGEN	СҮ		UNRESTRI	CTED			DESTINATION L			
SUPPLY & EQUIPMENT DIVISIO	ON		X SET ASIDE	: 1	00 % F	OR	BLOCK IS MARK			
BUILDING P 11200 1300 E AVENUE			SB					JULE		
FORT LEE VA 23801-1800			HUBZO	NE SB				CONTRACT IS A RA	TED ORDER	R
			X 8(A)			- WNED SB	13b. RATING	AS (15 CFR 700)		
TEL:			EMERGI			JWINED 36	14. METHOD OF	SOLICITATION		
FAX: (804) 734-8269/8886						S: 337214	RFQ	IFB	X RFP	
15. DELIVER TO	CODE		16. ADMINISTE	RED B	Y			CODE		
SEE SCHEI	DULE			S	EEI	TEM 9				
17a.CONTRACTOR/OFFEROR	C	ODE 1V7D1	18a. PAYMENT	WILL	be mad	DE BY		CODE	HQ0131	
PROFESSIONAL BUSINESS INT	ERIORS, LLC		DFAS-WIDE A	REA	WORK	FLOW		L		
MARTINE ROSTAN-MASSAMBA			DFAS - CVDA	AA/C	Ø					
808 KENNEBEC AVE #2 TAKOMA PARK MD 20912-6807			P.O. BOX 369			10				
			COLUMBUS	JH 432	236-90	10				
	FAC									
TEL. 301-495-0057	COL									
17b. CHECK IF REMITTANCE IS DIFFERENT AND PUT 18b. SUBMIT INVOICES TO ADDRESS SHOWN IN BLOCK 18a. UNLESS BLOCK SUCH ADDRESS IN OFFER BELOW IS CHECKED SEE ADDENDUM										
19. ITEM NO.		_E OF SUPPLIES/ SER	RV ICES		21.			23. UNIT PRICE	24. AMO	UNT
	ę	SEE SCHEDULE								
25. ACCOUNTING AND APPRO	PRIATION DATA						26. TOTAL A	WARD AMOUNT (For Govt. Us	e Only)
								\$3	1,008.08 E	sт
27a. SOLICITATION INCORF	PORATES BY REFER	RENCE FAR 52.212-1. 5	2.212-4. FAR 5	2.212-3	3. 52.21	2-5 ARE AT	TACHED. AE		ARE NOT	ATTACHED
X 27b. CONTRACT/PURCHAS	E ORDER INCORPO	DRATES BY REFERENC	E FAR 52.212-	4. FAR	52.212	2-5 IS ATTAC	HED. AD	DENDA XARE	ARE NOT	ATTACHED
28. CONTRACTOR IS REQUIRE	D TO SIGN THIS DO	CUMENT AND RETURN	N <u>0</u> COP	IES	29. A\	WARD OF C	ONTRACT: REF	ERENCE HDEC04-12	R-0015	
TO ISSUING OFFICE. CONT	RACTOR AGREES	TO FURNISH AND DELI	IVER ALL ITEM	S	1 X I			. YOUR OFFER		
SET FORTH OR OTHERWIS			TONAL SHEETS	6		,,		ADDITIONS OR C EPTED AS TO ITEM		
		Lon ILD HEREIN.					,			
30a. SIGNA TURE OF OFFERO	R/CONTRACTOR		31a.UNITED	STATE	IS OF A	MERICA (S	SIGNATURE OF CO	NTRACTING OFFICE) 31c. DATH	E SIGNED
				1		0.024			14	
			<	Z	<u> </u>	ain A-	mille		14-Ma	y-2012
30b. NAME AND TITLE OF SIG	NER	30c. DATE SIGNED	31b N7AME		ͲͲϼ៱ᡣᡣ᠇	NG OFFICER	/ 100 000 000	R PRINT)		
(TYPE OR PRINT)	-							N FRINI /		
, ,			DESSIE MII	LS / (CONTRAC	CTING OFFIC	CER			
			TEL: (804)	734-	8000 EX	XT 48511	EMAIL: de:	ssie.mills@deca.m	nil	
AUTHORIZED FOR LOCAL RE	PRODUCTION							STANDARD FORM	11449 (RF	V 3/2005)

SOLICITA	SOLICITATION/CONTRACT/ORDER FOR COMMERCIAL ITEMS (CONTINUED)										P/	AGE 2 OF 55
19. ITEM NO.		-	-	UPPLIES/ SER	RVICES		21. QUANTI	TY 22. I	UNIT	23. UNIT PF	RICE	24. AMOUNT
			EE SCHE						UNII			
32a. QUANTITY IN	_						I			1		1
	INSPECT		AND CONFC	RMS TO THE	CONTRAC	T, EXCEPT	AS NOTED:					
32b. SIGNATURE C REPRESENT		RIZED GOVERNMEN	Т	32c. DATE			TED NAME AND RESENTATIVE	TITLE OF A	UTHO	RIZED GOVEI	RNMEN	Т
32e. MAILING ADD	RESS OF A	AUTHORIZED GOVE	RNMENT RE	PRESENTATIV	Έ	32f. TELEF	PHONE NUMBER OF AUTHORIZED GOVERNMENT REPRESENTATIVE					
						32g. E-MAI	L OF AUTHORI	ZED GOVEF	RNMEN	IT REPRESEN	TATIVE	
33. SHIP NUMBER	34. FINAL	VOUCHER NUMBER	२ :	35. AMOUNT V CORRECT		36.				FINAL	7. CHE	CK NUMBER
38. S/R ACCOUNT		39. S/R VOUCHER	NUMBER	40. PAID BY		I				I		
		NT IS CORRECT AND DF CERTIFYING OFF		OR PAYMENT 41c. DATE	42a. RE	CEIVED BY	(Print)					
						CEIVED AT						
					42c. DA	TE REC'D (YY/MM/DD)	42d. TOTAL	CONT	TAINERS		

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT
0001	CED 2A06, Vertical File (FFP	\$0.00			
	Base Year: May 14, 2012	- April 30, 2013			
	FOB: Destination				

\$0.00

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT				
0001AA	CED 2A06-A, Vertical File Cal	265	Each	\$323.04	\$85,605.60				
	5 Drawer Letter								
	Base Year: May 14, 2012 - April 30, 2013								
	Warranty Period: Lifetime	Limited Warranty							
	Manufacturer: Global Total Office Model: #26-502								
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan							
	FOB: Destination								

\$85,605.60

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT				
0001AB	CED 2A06-B, Vertical Fil FFP	74	Each	\$371.57	\$27,496.18				
	5 Drawer Legal								
	Base Year: May 14, 2012 - April 30, 2013								
	Warranty Period: Lifetime	Limited Warranty							
	Manufacturer: Global Total Office Model: #26-552								
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan							
	FOB: Destination								

\$27,496.18

ITEM NO 0001AC	SUPPLIES/SERVICES CED 2A06-C, Vertical File FFP 2 Drawer Letter Base Year: May 14, 2012 Warranty Period: Lifetime Manufacturer: Global Tota	- April 30, 2013 Limited Warranty	UNIT Each	UNIT PRICE \$164.22	ESTIMATED AMOUNT \$4,105.50
	Model: #26-202 Warranty POC: Martine Ro Phone: 1-301-495-0057 FOB: Destination				
				ESTIMATED NET AMT	\$4,105.50
ITEM NO 0002	SUPPLIES/SERVICES CED 2A08-A, Steel Booko FFP Base Year: May 14, 2012 FOB: Destination		UNIT	UNIT PRICE	ESTIMATED AMOUNT \$0.00
				- ESTIMATED	\$0.00

\$0.00

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT			
0002AA	CED 2A08-A, Steel Book FFP	19	Each	\$101.47	\$1,927.93			
	Base Year: May 14, 2012 - April 30, 2013							
	Warranty Period: Lifetime	Limited Warranty						
	Manufacturer: Global Total Office Model: #91SBC2-36							
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan						
	FOB: Destination							

\$1,927.93

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT			
0002AB	CED 2A08-A, Steel Book FFP	19	Each	\$114.71	\$2,179.49			
	Base Year: May 14, 2012 - April 30, 2013							
	Warranty Period: Lifetime Limited Warranty							
	Manufacturer: Global Tota Model: #91SBC3-36	al Office						
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan						
	FOB: Destination							

\$2,179.49

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT				
0002AC	CED 2A08-A, Steel Book FFP	19	Each	\$155.39	\$2,952.41				
	Base Year: May 14, 2012 - April 30, 2013								
	Warranty Period: Lifetime	Limited Warranty							
	Manufacturer: Global Total Office Model: #91SBC4-36								
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan							
	FOB: Destination								

\$2,952.41

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT				
0002AD	CED 2A08-A, Steel Book FFP	19	Each	\$193.63	\$3,678.97				
	Base Year: May 14, 2012 - April 30, 2013								
	Warranty Period: Lifetime	Limited Warranty							
	Manufacturer: Global Total Office Model: #91SBC5-36								
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan							
	FOB: Destination								

\$3,678.97

ITEM NO 0003	SUPPLIES/SERVICES CED 2A12, Storage Cabir	ESTIMATED QUANTITY 150 net, Double Doors	UNIT Each	UNIT PRICE \$237.08	ESTIMATED AMOUNT \$35,562.00				
	FFP Base Year: May 14, 2012 Warranty Period: 12 years	-							
	Manufacturer: Tennsco Model: #7218RH								
	Warranty POC: Martine Rostan Phone: 1-301-495-0057								
	FOB: Destination								
				ESTIMATED NET AMT	\$35,562.00				
ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT				
0004	SHIPPING CHARGES	590	Each	\$250.00	\$147,500.00 EST				

FFP Base Year: May 14, 2012 - April 30, 2013

The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill. \$250 is added as a placeholder only for system purposes.

FOB: Destination

ESTIMATED NET AMT \$147,500.00 (EST.)

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT \$0.00			
1001 Option	CED 2A06, Vertical File Cabinet FFP							
	Option Year 1: May 1, 20	013 - April 30, 2014	1					
	FOB: Destination							
				ESTIMATED NET AMT	\$0.00			
ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT			
1001AA OPTION	CED 2A06-A, Vertical Fil FFP	158 le Cabinet	Each	\$342.42	\$54,102.36			
	5 Drawer Letter							
	Option Year 1: May 1, 20	013 - April 30, 2014	ļ					
	Warranty Period: Lifetime	Limited Warranty						
	Manufacturer: Global Tota Model: #26-502	al Office						
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan						
	FOB: Destination							

\$54,102.36

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT			
1001AB OPTION	CED 2A06-B, Vertical Fil FFP	144	Each	\$393.87	\$56,717.28			
	5 Drawer Legal							
	Option Year 1: May 1, 2013 - April 30, 2014							
	Warranty Period: Lifetime Limited Warranty							
	Manufacturer: Global Total Office Model: #26-552							
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan						
	FOB: Destination							

\$56,717.28

ITEM NO 1001AC OPTION	SUPPLIES/SERVICES CED 2A06-C, Vertical Fil FFP 2 Drawer Letter Option Year 1: May 1, 20 Warranty Period: Lifetime Manufacturer: Global Tota Model: #26-202 Warranty POC: Martine R Phone: 1-301-495-0057 FOB: Destination	13 - April 30, 2014 Limited Warranty ll Office		UNIT PRICE \$174.07	ESTIMATED AMOUNT \$25,066.08
				ESTIMATED NET AMT	\$25,066.08
ITEM NO 1002 OPTION	SUPPLIES/SERVICES CED 2A08-A, Steel Booke FFP Option Year 1: May 1, 20 FOB: Destination		UNIT	UNIT PRICE	ESTIMATED AMOUNT \$0.00
				ESTIMATED	\$0.00

\$0.00

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT		
1002AA Option	CED 2A08-A, Steel Book FFP	20	Each	\$107.56	\$2,151.20		
	Option Year 1: May 1, 20	-	L				
	Warranty Period: Lifetime						
	Manufacturer: Global Total Office Model: #91SBC2-36						
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan					
	FOB: Destination						

\$2,151.20

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT
1002AB OPTION	CED 2A08-A, Steel Book FFP	20 case, 3 Shelf	Each	\$121.59	\$2,431.80
	Option Year 1: May 1, 20	113 - April 30, 2014	ł		
	Warranty Period: Lifetime	Limited Warranty			
	Manufacturer: Global Tota Model: #91SBC3-36	al Office			
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan			

ESTIMATED NET AMT \$2,431.80

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT		
1002AC OPTION	CED 2A08-A, Steel Book FFP	20 case, 4 Shelf	Each	\$164.72	\$3,294.40		
	Option Year 1: May 1, 20	113 - April 30, 2014	ł				
	Warranty Period: Lifetime	Limited Warranty					
	Manufacturer: Global Total Office Model: #91SBC4-36						
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan					

ESTIMATED NET AMT \$3,294.40

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT		
1002AD Option	CED 2A08-A, Steel Book FFP	20	Each	\$205.25	\$4,105.00		
	Option Year 1: May 1, 20	-	L				
	Warranty Period: Lifetime						
	Manufacturer: Global Total Office Model: #91SBC5-36						
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan					
	FOB: Destination						

\$4,105.00

ITEM NO 1003 option	SUPPLIES/SERVICES CED 2A12, Storage Cabir FFP Option Year 1: May 1, 20 Warranty Period: 12 years	013 - April 30, 2014		UNIT PRICE \$260.78	ESTIMATED AMOUNT \$39,117.00		
	Manufacturer: Tennsco Model: #7218RH Warranty POC: Martine R Phone: 1-301-495-0057 FOB: Destination	Costan					
				ESTIMATED NET AMT	\$39,117.00		
ITEM NO 1004 option	SUPPLIES/SERVICES SHIPPING CHARGES FFP	ESTIMATED QUANTITY 676	UNIT Each	UNIT PRICE \$250.00	ESTIMATED AMOUNT \$169,000.00 EST		
	Option Year 1: May 1, 2013 through April 30, 2014 The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill. \$250 is added as a placeholder only for system purposes. FOB: Destination						

\$169,000.00 (EST.)

ITEM NO 2001 Option	SUPPLIES/SERVICES CED 2A06, Vertical File O FFP Option Year 2: May 1, 20 FOB: Destination		UNIT	UNIT PRICE	ESTIMATED AMOUNT \$0.00
				ESTIMATED NET AMT	\$0.00
ITEM NO 2001AA OPTION	SUPPLIES/SERVICES CED 2A06-A, Vertical Fil FFP 5 Drawer Letter Option Year 2: May 1, 20 Warranty Period: Lifetime Manufacturer: Global Tota Model: #26-502 Warranty POC: Martine R Phone: 1-301-495-0057 FOB: Destination	914 - April 30, 2015 E Limited Warranty al Office	UNIT Each	UNIT PRICE \$362.96	ESTIMATED AMOUNT \$77,673.44

\$77,673.44

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT
2001AB OPTION	CED 2A06-B, Vertical Fil FFP	181	Each	\$417.50	\$75,567.50
	5 Drawer Legal				
	Option Year 2: May 1, 20	014 - April 30, 2015	5		
	Warranty Period: Lifetime				
	Manufacturer: Global Tota Model: #26-552	al Office			
	Warranty POC: Martine R Phone: 1-301-495-0057	lostan			
	FOB: Destination				

\$75,567.50

ITEM NO 2001AC OPTION	SUPPLIES/SERVICES CED 2A06-C, Vertical Fil FFP 2 Drawer Letter Option Year 2: May 1, 20 Warranty Period: Lifetime Manufacturer: Global Tota Model: #26-202	914 - April 30, 2015 E Limited Warranty		UNIT PRICE \$184.52	ESTIMATED AMOUNT \$14,577.08
	Model: #26-202 Warranty POC: Martine R Phone: 1-301-495-0057 FOB: Destination	ostan		ESTIMATED NET AMT	\$14,577.08
ITEM NO 2002 OPTION	SUPPLIES/SERVICES CED 2A08-A, Steel Book FFP Option Year 2: May 1, 20 FOB: Destination		UNIT	UNIT PRICE	ESTIMATED AMOUNT \$0.00

\$0.00

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT	
2002AA OPTION	CED 2A08-A, Steel Book FFP	15	Each	\$114.01	\$1,710.15	
	Option Year 2: May 1, 20	014 - April 30, 2013	5			
	Warranty Period: Lifetime	Limited Warranty				
	Manufacturer: Global Total Office Model: #91SBC2-36					
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan				
	FOB: Destination					

\$1,710.15

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT		
2002AB OPTION	CED 2A08-A, Steel Book FFP	15	Each	\$128.89	\$1,933.35		
	Option Year 2: May 1, 20	14 - April 30, 2015	i				
	Warranty Period: Lifetime Limited Warranty						
	Manufacturer: Global Total Office Model: #91SBC3-36						
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan					
	FOB: Destination						

\$1,933.35

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT		
2002AC OPTION	CED 2A08-A, Steel Book FFP	15	Each	\$174.60	\$2,619.00		
	Option Year 2: May 1, 20	14 - April 30, 2015	5				
	Warranty Period: Lifetime	Limited Warranty					
	Manufacturer: Global Total Office Model: #91SBC4-36						
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan					
	FOB: Destination						

\$2,619.00

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT		
2002AD OPTION	CED 2A08-A, Steel Book FFP	15	Each	\$217.56	\$3,263.40		
	Option Year 2: May 1, 20	14 - April 30, 2015	;				
	Warranty Period: Lifetime Limited Warranty Manufacturer: Global Total Office Model: #91SBC5-36						
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan					
	FOB: Destination						

\$3,263.40

ITEM NO 2003 OPTION	SUPPLIES/SERVICES CED 2A12, Storage Cabin FFP Option Year 2: May 1, 20 Warranty Period: 12 years Manufacturer: Tennsco Model: #7218RH Warranty POC: Martine R Phone: 1-301-495-0057)14 - April 30, 2015 5 Limited Warranty		UNIT PRICE \$286.86	ESTIMATED AMOUNT \$33,562.62
	FOB: Destination			ESTIMATED NET AMT	\$33,562.62
ITEM NO 2004 Option	SUPPLIES/SERVICES SHIPPING CHARGES FFP Option Year 2: May 1, 20 The vendor will be paid for prepaid freight/shipping b purposes. FOB: Destination	or actual shipping c	harges supp	UNIT PRICE \$250.00 ported by a copy of the older only for system	ESTIMATED AMOUNT \$162,750.00 EST

\$162,750.00 (EST.)

ITEM NO 3001 OPTION	SUPPLIES/SERVICES CED 2A06, Vertical File O FFP Option Year 3: May 1, 20 FOB: Destination		UNIT	UNIT PRICE	ESTIMATED AMOUNT \$0.00
				ESTIMATED NET AMT	\$0.00
ITEM NO 3001AA OPTION	SUPPLIES/SERVICES CED 2A06-A, Vertical Fil FFP 5 Drawer Letter Option Year 3: May 1, 20 Warranty Period: Lifetime Manufacturer: Global Tota Model: #26-502 Warranty POC: Martine R Phone: 1-301-495-0057 FOB: Destination	15 - April 30, 2016 Limited Warranty al Office	UNIT Each	UNIT PRICE \$384.75	ESTIMATED AMOUNT \$36,166.50

\$36,166.50

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT			
3001AB Option	CED 2A06-B, Vertical Fil FFP	32	Each	\$442.55	\$14,161.60			
	5 Drawer Legal							
	Option Year 3: May 1, 2015 - April 30, 2016							
	Warranty Period: Lifetime Limited Warranty							
	Manufacturer: Global Total Office Model: #26-552							
	Warranty POC: Martine R Phone: 1-301-495-0057	lostan						
	FOB: Destination							

\$14,161.60

ITEM NO 3001AC OPTION	SUPPLIES/SERVICES CED 2A06-C, Vertical Fil FFP 2 Drawer Letter Option Year 3: May 1, 20 Warranty Period: Lifetime Manufacturer: Global Tota Model: #26-202 Warranty POC: Martine R Phone: 1-301-495-0057 FOB: Destination	915 - April 30, 2016 E Limited Warranty al Office	UNIT Each	UNIT PRICE \$195.59	ESTIMATED AMOUNT \$13,104.53
				ESTIMATED NET AMT	\$13,104.53
ITEM NO 3002 OPTION	SUPPLIES/SERVICES CED 2A08-A, Steel Book FFP Option Year 3: May 1, 20 FOB: Destination		UNIT	UNIT PRICE	ESTIMATED AMOUNT \$0.00

\$0.00

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT		
3002AA OPTION	CED 2A08-A, Steel Book FFP	4	Each	\$120.86	\$483.44		
	Option Year 3: May 1, 20	015 - April 30, 2016	5				
	Warranty Period: Lifetime Limited Warranty Manufacturer: Global Total Office Model: #91SBC2-36						
	Warranty POC: Martine R Phone: 1-301-495-0057	lostan					
	FOB: Destination						

\$483.44

ITEM NO	SUPPLIES/SERVICES	ESTIMATED	UNIT	UNIT PRICE	ESTIMATED AMOUNT
2002.4.5		QUANTITY		<i>†</i> 1 2 5 5 2	¢ <0.2 1.0
3002AB		5	Each	\$136.62	\$683.10
OPTION	CED 2A08-A, Steel Book	case, 3 Shelf			
	FFP				
	Option Year 3: May 1, 20	15 - April 30, 201	6		
	- F		-		
	Warranty Period: Lifetime	I imited Warranty	7		
	Wallanty Teriod. Elletine	Emitted Warranty			
	Manufacturer: Global Tota	al Office			
	Model: #91SBC3-36				
	Warranty POC: Martine R	lostan			

Phone: 1-301-495-0057

ESTIMATED NET AMT

\$683.10

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT		
3002AC OPTION	CED 2A08-A, Steel Book FFP	5 case, 4 Shelf	Each	\$185.08	\$925.40		
	Option Year 3: May 1, 20	15 - April 30, 2016	5				
	Warranty Period: Lifetime	Limited Warranty					
	Manufacturer: Global Total Office Model: #91SBC4-36						
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan					

ESTIMATED NET AMT \$925.40

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT		
3002AD OPTION	CED 2A08-A, Steel Book FFP	5	Each	\$230.61	\$1,153.05		
	Option Year 3: May 1, 20	15 - April 30, 2016	5				
	Warranty Period: Lifetime						
	Manufacturer: Global Total Office Model: #91SBC5-36						
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan					
	FOB: Destination						

\$1,153.05

ITEM NO 3003	SUPPLIES/SERVICES	ESTIMATED QUANTITY 32	UNIT Each	UNIT PRICE \$315.55	ESTIMATED AMOUNT \$10,097.60				
OPTION	CED 2A12, Storage Cabir FFP Option Year 3: May 1, 20		õ						
	Warranty Period: 12 years Limited Warranty Manufacturer: Tennsco Model: #7218RH								
	Warranty POC: Martine Rostan Phone: 1-301-495-0057								
	FOB: Destination								
				ESTIMATED NET AMT	\$10,097.60				
ITEM NO 3004 OPTION	SUPPLIES/SERVICES SHIPPING CHARGES FFP	ESTIMATED QUANTITY 244	UNIT Each	UNIT PRICE \$250.00	ESTIMATED AMOUNT \$61,000.00 EST				

Option Year 3: May 1, 2015 - April 30, 2016

The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill. \$250 is added as a placeholder only for system purposes.

FOB: Destination

ESTIMATED NET AMT \$61,000.00 (EST.)

ITEM NO 4001 OPTION	SUPPLIES/SERVICES CED 2A06, Vertical File O FFP Option Year 4: May 1, 20 FOB: Destination		UNIT	UNIT PRICE	ESTIMATED AMOUNT \$0.00
				ESTIMATED NET AMT	\$0.00
ITEM NO 4001AA OPTION	SUPPLIES/SERVICES CED 2A06-A, Vertical Fil FFP 5 Drawer Letter Option Year 4: May 1, 20 Warranty Period: Lifetime Manufacturer: Global Tota Model: #26-502 Warranty POC: Martine R Phone: 1-301-495-0057 FOB: Destination	16 - April 30, 2017 Limited Warranty al Office	UNIT Each	UNIT PRICE \$407.84	ESTIMATED AMOUNT \$33,035.04

\$33,035.04

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT			
4001AB OPTION	CED 2A06-B, Vertical File FFP	85	Each	\$469.10	\$39,873.50			
	5 Drawer Legal							
	Option Year 4: May 1, 2016 - April 30, 2017							
	Warranty Period: Lifetime	e Limited Warranty						
	Manufacturer: Global Tota Model: #26-552	al Office						
	Warranty POC: Martine Rostan Phone: 1-301-495-0057							
	FOB: Destination							

\$39,873.50

ITEM NO 4001AC OPTION	SUPPLIES/SERVICES CED 2A06-C, Vertical Fil FFP 2 Drawer Letter Option Year 4: May 1, 20 Warranty Period: Lifetime Manufacturer: Global Tota Model: #26-202 Warranty POC: Martine R Phone: 1-301-495-0057	916 - April 30, 2017 E Limited Warranty al Office	UNIT Each	UNIT PRICE \$207.32	ESTIMATED AMOUNT \$12,024.56
	FOB: Destination			ESTIMATED NET AMT	\$12,024.56
ITEM NO 4002 OPTION	SUPPLIES/SERVICES CED 2A08-A, Steel Book FFP Option Year 4: May 1, 20 FOB: Destination		UNIT	UNIT PRICE	ESTIMATED AMOUNT \$0.00

\$0.00

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT	
4002AA OPTION	CED 2A08-A, Steel Book FFP	6	Each	\$128.11	\$768.66	
	Option Year 4: May 1, 2016 - April 30, 2017 Warranty Period: Lifetime Limited Warranty					
	Manufacturer: Global Tota Model: #91SBC2-36	al Office				
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan				
	FOB: Destination					

\$768.66

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT		
4002AB OPTION	CED 2A08-A, Steel Book FFP	7	Each	\$144.81	\$1,013.67		
	Option Year 4: May 1, 2016 - April 30, 2017						
	Warranty Period: Lifetime	Limited Warranty					
	Manufacturer: Global Tota Model: #91SBC3-36	al Office					
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan					

ESTIMATED NET AMT \$1,013.67

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT		
4002AC OPTION	CED 2A08-A, Steel Book FFP	7 case, 4 Shelf	Each	\$196.18	\$1,373.26		
	Option Year 4: May 1, 2016 - April 30, 2017						
	Warranty Period: Lifetime Limited Warranty						
	Manufacturer: Global Tota Model: #91SBC4-36	al Office					
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan					

ESTIMATED NET AMT \$1,373.26

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT		
4002AD OPTION	CED 2A08-A, Steel Book FFP	7	Each	\$244.45	\$1,711.15		
	Option Year 4: May 1, 2016 - April 30, 2017						
	Warranty Period: Lifetime	Limited Warranty					
	Manufacturer: Global Tota Model: #91SBC5-36	al Office					
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan					

ESTIMATED NET AMT \$1,711.15

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT
4003 OPTION	CED 2A12, Storage Cabir FFP	36	Each	\$347.11	\$12,495.96
	Option Year 4: May 1, 20	16 - April 30, 2017			
	Warranty Period: 12 years	Limited Warranty			
	Manufacturer: Tennsco Model: #7218RH				
	Warranty POC: Martine R Phone: 1-301-495-0057	ostan			
	FOB: Destination				
]	ESTIMATED NET AMT	\$12,495.96

ITEM NO	SUPPLIES/SERVICES	ESTIMATED	UNIT	UNIT PRICE	ESTIMATED AMOUNT
		QUANTITY			
4004		287	Each	\$250.00	\$71,750.00 EST
OPTION	SHIPPING CHARGES				
	FFP				

Option Year 4: May 1, 2016 - April 30, 2017

The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill. \$250 is added as a placeholder only for system purposes.

FOB: Destination

ESTIMATED NET AMT \$71,750.00 (EST.)